Algebra I – Review for Test 301
ANSWER ALL QUESTIONS ON YOUR OWN PAPER except #12 - #14. Show all work and box in your answers.  
Write the equation for each line in Slope Intercept Form [y = mx + b] given the following information.

1)  slope = 3 and  b =  6
 2) slope = 0, y-int.: (0,-3)

3)  m = 
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, goes through the point (0,0)
Write the equation for each line in Slope-Intercept Form given the following information.

4) slope =  
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, passing through (9,3)


5)  m = -4, passing through (-2, -3)
6) passing through (-2, 2) and (6, 6)


7) passing through (4, 3) and (6, -3)

8) Write equation of the line graphed below.  
9) Write an equation  (y=mx+b) for the relationship between the values in these tables. 







         
 A)     x    y

B)      x    y

	-3
	3

	-2
	0

	0
	-6

	3
	-15


	0
	4

	2
	5

	4
	6

	6
	7


Give the Slope-Intercept Form of equation for: (Solve for y) and then give the slope and y- intercept of the line.
10)   The equation :  3x + 7y = 42

11)  The equation:  -5x – y =  - 4
Graph each linear function equation and CIRCLE the Direct Variation. 

12)  2 = y



        13)  y = -4x 



14)  x = -4








15) What is the slope of  #12 above
16) What is the slope of #13 above

17) What is the slope of #14 above

	18)Find the slope of a line perpendicular to the graph with the equation y = -9x – 3 
	19)Write an equation for a line parallel to y = 5x – 4 that passes through (0, 2)  
	20) Write an equation of a line parallel to y = -1/2 x + 1 that passes through (2, 4)


21)  What is the slope of the line on the graph to 
the right?        

22)  Write an equation for the line on the graph to the right:

23)   Solve 4x – 2y = 8 for y and write what the slope is.   
__________________________________________________________________________________________________
Answers:

1)  y = 3x + 6

2)  y = -3

3)  y = 
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5)  y = -4x – 11

6)  
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7)  y = -3x + 15

8)  y = -x – 1

9)  A)  
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B) 
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10)  
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,   m = 
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,   (0, 6)
11)  y = -5x + 4,   m = -5,   (0, 4)
12)  pick the correct graph to the right
13)  pick the correct graph to the right 
14)  pick the correct graph to the right
15)  m = zero
16)  m = 
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17)  undefined
18)  m = 
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19)  
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20)  
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21)  m = 
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22)  
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23)  
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 and the slope is 2
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